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¡  dn	is	the	degeneracy	(or	maximum	
occupancy)	of	the	energy	level	En	

§  E.g.	in	the	hydrogen	atom	the	electron	subshell				
n	=	2,	l	=	1	has	degeneracy	dn	=	6	

¡  g(E)	is	the	density	of	states	per	unit	volume	
§  V	g(E)	is	the	continuous	equivalent	of	dn	





The	number	of	populated		
states	per	unit	volume	n(E)		
is	proportional	to	the	product	
of	the	density	of	states	g(E)	and		
the	energy	distribution	function	
f(E)	



¡ What	is	the	correct	normalization	condition	
for	N	particles?		

¡  Integral(V	g(E)	f(E)	dE)	=	1	
¡  Integral(g(E)	f(E)	dE)	=	1	
¡  Integral(V	g(E)	f(E)	dE)	=	N	
¡  Integral(f(E)	dE)	=	N	
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